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Regents Biology
Ecology – Unit 9


Name__________________________

Textbook Chapter 34 (Review Book Topic 6)

Test Date _____________

34.1 The biosphere is the global ecosystem

The Study of Ecology

1. Individual Organisms

2. Population

3. Community

4. Ecosystem

5. Biosphere

· Lithosphere

· Hydrosphere
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Key Abiotic Factors

1. Abiotic factors 

· Influence the types of, and number of living organisms that can inhabit the ecosystem.  

· Can limit the growth of a population and is referred to as a limiting factor
a. sunlight

b. water

c. temperature

d. soil

e. wind

f. natural disturbances

2. Biotic factors 


  Terminology used in discussing biotic (living) parts of an ecosystem.  (Chapter 36)

Name: _____________________





Per. _____

Biomes – Use the text pages 753 – 761 to fill in the information below on limiting factors. List information on any limiting factors you find. You may not find information on all limiting factors for each biome.

Tropical Forest

g. sunlight

h. water

i. temperature

j. soil

k. wind

l. natural disturbances

Savanna

a. sunlight

b. water

c. temperature

d. soil

e. wind

f. natural disturbances

Desert

a. sunlight

b. water

c. temperature

d. soil

e. wind

f. natural disturbances

Chaparral

a. sunlight

b. water

c. temperature

d. soil

e. wind

f. natural disturbances

Temperate Grassland

a. sunlight

b. water

c. temperature

d. soil

e. wind

f. natural disturbances

Temperate Deciduous Forest

a. sunlight

b. water

c. temperature

d. soil

e. wind

f. natural disturbances

Coniferous Forest

a. sunlight

b. water

c. temperature

d. soil

e. wind

f. natural disturbances

Tundra

a. sunlight

b. water

c. temperature

d. soil

e. wind

f. natural disturbances

What biome do you think we live in?

List fresh water ecosystems below.

List salt water ecosystems below.

34.3 Biomes are the major types of terrestrial ecosystems.  Use pgs. 754-761 to complete:
	
	 Rainfall
	growing season
	animals
	plants
	limiting factors
	Unique

characteristics

	Tropical
Rainforest
	
	
	
	
	
	

	Savanna
	
	
	
	
	
	

	Desert
	
	
	
	
	
	

	Chaparral

	
	
	
	
	
	

	Temperate Grasslands
	
	
	
	
	
	

	Temperate Deciduous Forest
	
	
	
	
	
	

	Coniferous

Forest


	
	
	
	
	
	

	Tundra
	
	
	
	
	
	


34.4   Aquatic Ecosystems make up most of the biosphere. 
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Regents Biology
Ecology – Unit 9


Name__________________________

Textbook Chapter 35 (Review Book Topic 6/7)

Test Date _____________

35.1 A population is a local group of organisms of one species.

A.  Defining Populations

B.  Population Density

35.2 &  35. 4 Limits to population growth / Species interactions

Limits on Population Size: The number of individuals in a population is determined by three factors.

1. Carrying Capacity

2. Predator – Prey Interactions

3. Competition




Habitat




Niche

Name: _________________________________________
Per. ______

Regents Biology

Natural Limits on Population Size

Graph Analysis

A graph is a pictorial representation of data

Observations – looking at the graph allows us to see the “trends” that occur. A graph may have one, many, or no trends, but all graphs can have observations made about them.  Observations relate independent and dependent variables.

Conclusions – deductions drawn from the observations

Graphs can be used as tools in the development of hypotheses. After a graph has been analyzed (ie. observations made and conclusions drawn) a person could pose an explanation of how or why the independent variable caused the observed increase or decrease in the dependent variable.

Below are graphs representing population growth. You should analyze each graph and develop a conclusion based on your knowledge of biology.
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The following graph was created from data taken from a population of Parmecium aurelia. The organisms were grown in a controlled laboratory environment in which no other Paramecium species were present.

The graph analysis involves two activities:

1. Make observations on the graph. Look at the graph and describe what happened. In this graph there are two observations. 

Observation 1 From Day 0 to Day 9 the number of Paramecium increased from 3 

to approximately 900.

Observation 2 After Day 9 the number of Paramecium ____________________________________

________________________________________________________________________________
2. The second part of analysis is to draw conclusions. Usually you can draw at least one conclusion from each observation.

Conclusion Drawn from Observation 1

During the beginning of the experiment (Days 0 – 9) the Paramecium were successful at reproducing and the population grew.

What possible explanation (hypothesis) can be made about the environment and its effect on the population of Paramecium from Days 0 -9?

________________________________________________________________________________

________________________________________________________________________________

Conclusion Drawn from Observation 2

Following Day 9 of the experiment _____________________________________________________ 

________________________________________________________________________________

What possible explanation (hypothesis) can be made about the environment and its effect on the population of Paramecium following Day 9?

________________________________________________________________________________

________________________________________________________________________________

B.
The following graph was created from population data taken from two species of Parmecium grown in the same habitat.  One species is named Parmecium aurelia and the other is [image: image7.png]


Parmecium caudatum.

Make observations on the graph. Look at the graph and describe what happened to each Paramecium species.

Observation 1 about P. Aurelia

	


Observation 2 about P. caudatum

	


Conclusion Drawn from Observation 1

	


Conclusion Drawn from Observation 2

	


What inference can be made about the relationship between P. Aurelia and P. caudatum?

	

	


C. The following graph was created from population data taken from two species grown in the same habitat. One species is named Didinium nasutum and the other is named Parmecium aurelia.
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Make observations on the graph. Look at the graph and describe what happened to each population of organism.

Observation 1 about P. Aurelia

	


Observation 2 about D. nasutum

	


Conclusion Drawn from Observation 1

	


Conclusion Drawn from Observation 2

	


What inference can be made about the relationship between P. Aurelia and D. nasutum and its effect on population growth of each organism?

	


Symbiotic Relationships


Parasitism –

Mutualism –

Commensalism –

	
	
	
	Examples

	Type of Symbiosis
	Guest*
	Host*
	#1
	#2
	#3

	Parasitism
	
	
	
	
	

	Mutualism
	
	
	
	
	

	Commensalism
	
	
	
	
	


* Enter a 

+
if the organism benefits from the relationship

· if the organism is harmed by the relationship

0
if the organism does not benefit, nor is harmed by the relationship

Symbiotic Relationships Activity

Part 1
Identify the symbiotic relationship in each example below.

Place a "P" next to the descriptions that represent parasitism; an "M" next to the descriptions that represent mutualism and; a "C" next to the descriptions that represent commensalisms.

1. ____
The lichen is made up of two organisms; a fungus and algae. The algal cells live inside the hyphae* of the fungus. The algal cells photosynthesize and give sugars and oxygen to the fungus. In return the fungus provides protection, water and salts for the small algal cells. Also, the fungus is able to grow on bare rock and other areas where other plants cannot. This is because the fungus is able to take a firm hold where most plant roots are unable to penetrate.  
*-hyphae are long fibrous strands of cells.


Identify the host: __________________ and the guest _________________

2. ____
In the human large intestine millions of bacteria live. They feed on undigested food which reaches the colon and the rectum. These bacteria create vitamins that are absorbed by the large intestine.


Identify the host: __________________ and the guest _________________

3. ____
The cocklebur is a plant that has fruits/seeds with barbs. A dog walking by the plant will transfer the barbed seeds on its fur to another location.


Identify the host: __________________ and the guest _________________

4. ____
The seed of a Dodder plant starts to germinate on the ground and produces one temporary root. The shoot grows upwards until it touches the stem of another plant. When this contact has been made, the stem of the dodder continues to grow upwards by spiraling around the host's stem. Special root-like structures grow from the stem of the dodder into the stem of the host.  The root-like structures penetrate the host's tissues until they reach the vessels which carry the sugars through the host plant 


Identify the host: __________________ and the guest _________________

5. ____
Lice (sing. louse) are insects.  They have a flattened body and hooks on their legs which help them to hold onto their host. Lice feed by biting the skin and sucking up the released blood. They lay their eggs, called nits, on hairs. These eggs are difficult to remove because the lice produce a glue-like substance to keep the eggs attached. The eggs hatch into miniature adults which quickly grow as they feed from their host. 


Identify the host: __________________ and the guest _________________

6. ____
The Remora fish is a long slender fish which has its dorsal fin modified as a sucker-like attachment organ. It attaches to the sides of larger fish and turtles without harming them. The host is used for transport and the fish also obtain extra food fragments dropped from the host.


Identify the host: __________________ and the guest _________________

7. ____
An amoeba known as Entamoeba gingivalis lives on the teeth and gums of humans. It feeds on bacteria and food scraps found in the mouth, but does not cause harm to the host.


Identify the host: __________________ and the guest _________________

8. ____
Bacteria live in nodules on the roots of plants called legumes. The bacterial cells are capable of converting atmospheric nitrogen which plants cannot use and converting it into ammonia which the plants can use (nitrogen fixation). The roots provide food and water for the bacteria.


Identify the host: __________________ and the guest _________________

Part 2

Read the paragraph below.  It describes three symbiotic relationships.

Dutch elm disease is caused by a fungus, Ceratocystis ulme. The fungus is spread from tree to tree by the elm bark beetle, Scolytus multistriatus.  The female beetle digs a chamber in an infected tree where she lays her eggs.  The fungus grows in the chamber where it produces its spores. When the eggs hatch, the larvae feed on these spores. When the young beetles leave the elm tree, they carry spores to other elm trees. As the beetles move over the younger, growing parts of the healthy elm tree, some spores are left behind.  These spores germinate and grow in the water carrying vessels of the elm from where the fungus spreads throughout the tree. The fungus grows down into the roots, blocking the vessels that carry water through the plant. Eventually the roots die and the tree falls over.

For each relationship, indicate the names of the organisms, which is host and guest and which type of symbiosis they represent.

	
	Host
	Guest
	Symbiotic Relationship

(P/M/C)

	1
	
	
	

	2
	
	
	

	3
	
	
	


35.5 Disturbances are common in communities
A.  Disturbances to Communities:  Both abiotic and biotic factors may change over time.  Changes in ecosystems are called Ecological Succession.
Pioneer organisms –

Climax community –

Primary ecological succession –
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Secondary ecological succession –

[image: image10.png]
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Pond succession – a special case of secondary succession.

Use the pictures provided by your teacher.  Put them in order from pioneer organism to climax community:
   ___________
___________

___________

___________

___________

[image: image12.png]Carbon-Oxygen Cycle




Regents Biology
Ecology – Unit 9


Name__________________________

Textbook Chapter 36 (Review Book Topic 6/7)

Test Date _____________

36.1 Feeding relationships determine the path of energy and chemicals in ecosystems.

Biodiversity – A healthy ecosystem is filled with many types of living things.

Energy Flow and Chemical Cycling

Producers/Autotroph –



Phototroph –



Chemotroph –


Consumer/Heterotroph –



Herbivore –



Carnivore –




Predator –




Scavenger –



Omnivore –



Decomposer (saprobe) –

Relationships within ecosystems are shown in Food Webs

Food Chains:

Food webs are interconnected food chains.

[image: image1.png]



Trophic Levels:

Producers

Primary Consumers

Secondary Consumers

Tertiary Consumers

Name ____________________________________   Per  ____________   Date ____________
Food Chain/Web Worksheet

1.   Add arrows to the food chain below.
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2. What organism does the tuna prey on? ________________________________________
3. What are two disadvantages of food chains? ____________________________________

______________________________________________________________________________________________________________________________________________________________________________________________________________________________

Use the food web below to answer the following questions:
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4. List the producer(s) in this food web. _________________________________________
5. List the primary consumers. _________________________________________________

________________________________________________________________________
6. List the secondary consumers. _______________________________________________
________________________________________________________________________

7. List any tertiary consumers. _________________________________________________
8. What organism has not been categorized yet? What category is it in? ________________

________________________________________________________________________
9. Describe what would happen if the bear was removed from this ecosystem. 

____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

36.2 Energy flows through ecosystems.
What happens to all of the sun’s energy which strikes plants?

Some is reflected

Some is lost as heat

Some is stored in the bonds of organic molecules (glucose)

Of the energy which is stored in plants

Some is used for plant growth

Some is stored in the plant or in seeds for the next generation

Some is eaten by consumers

Of the energy of plant materials which is eaten by consumers

Some is lost as undigested animal waste

Some is lost as heat

Some is converted to animal tissue (~10%)

Some animal tissue is eaten by carnivores

Of the energy in consumer tissues which is eaten by carnivores
Some is lost as undigested animal waste

Some is lost as heat

Some is converted to animal tissue (~10%)

Some animal tissue is eaten by carnivores

Energy relationships in an ecosystem can be represented graphically by a pyramid.


1. According to the energy pyramid, which level has the greatest amount of energy?

2. Only about 10% of that energy is passed on to the ___________________

3. Only about 10% of the energy from primary consumers is passed on to the _________________ consumers.

4. If only 10% of the energy from food eaten is stored as tissue in an organism, what happens to the rest of the energy?

5. Ultimately, what happens to the energy in an ecosystem?

	TROPHIC STRUCTURE

	Glossary of trophic structure terms:
	
	
	
	

	
	Producer - an autotroph
	
	Secondary consumer - eats primary consumers

	
	Consumer - an heterotroph
	
	Tertiary consumer - eats primary and 
	

	
	Primary consumer - eats producers
	
	secondary consumers.
	

	
	
	
	
	
	
	
	

	INSTRUCTIONS:
	
	
	
	
	
	

	For each organism determine which categroy it belongs to (producer, primary consumers,
	

	etc.) then move the number into that column.
	
	
	
	

	
	
	
	
	
	
	
	

	Example:  Ants are primary consumers so the biomass of ants (184) was moved over to the

	"Primary" column.
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	When all of the organism have been identified total each column and make a horizontal
	

	bar graph in the space provide on the other side of this sheet.
	
	
	

	
	
	
	
	
	
	
	

	Get out your calculator or share with someone who has one and get started.
	
	

	
	
	
	
	
	
	
	

	
	ORGANISMS IN A FIELD IN WESTERN NEW YORK
	

	
	
	
	
	 
	Consumers
	 
	

	
	Organism
	biomass
	Producers
	Primary
	Secondary
	Tertiary
	

	
	Ants
	184 
	 
	184 
	 
	 
	

	
	Bees
	204 
	 
	 
	 
	 
	

	
	Crickets
	269 
	 
	 
	 
	 
	

	
	Dandelions
	2,132 
	 
	 
	 
	 
	

	
	Flickers
	6 
	 
	 
	6 
	 
	

	
	Garter snakes
	6 
	 
	 
	 
	 
	

	
	Goldenrod
	2,290 
	2,290 
	 
	 
	 
	

	
	Grasses
	4,386 
	 
	 
	 
	 
	

	
	Grasshoppers
	304 
	 
	304 
	 
	 
	

	
	Great Horned Owl
	3 
	 
	 
	 
	 
	

	
	Kestrels
	4 
	 
	 
	4 
	 
	

	
	Mice
	6 
	 
	6 
	 
	 
	

	
	Milk snakes
	8 
	 
	 
	 
	 
	

	
	Milkweed plants
	129 
	 
	 
	 
	 
	

	
	Predatory beetles
	63 
	 
	 
	 
	 
	

	
	Queen Anne's lace
	1,153 
	1,153 
	 
	 
	 
	

	
	Red fox
	2 
	 
	 
	 
	2 
	

	
	Red tailed hawk
	4 
	 
	 
	 
	4 
	

	
	Shrews
	8 
	 
	 
	8 
	 
	

	
	Sparrows
	4 
	 
	4 
	 
	 
	

	
	Sumac bushes
	14 
	 
	 
	 
	 
	

	
	 
	Totals:
	 
	 
	 
	 
	

	
	
	
	
	
	
	
	

	
	Flicker - a bird that eats ants.
	
	
	
	
	

	
	Kestrel - predatory bird that eats small rodents an large insects.
	
	

	
	Queen Anne's Lace - the wild carrot.
	
	
	
	

	
	Shrew - a tiny predatory mammals that eats insects and worms.
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	Make a colored bar to represent the number of organism in each trophic level.

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	The Trophic Structure of a Field in Western New York

	
	
	
	
	
	
	
	
	

	
	
	 
	 
	 
	 
	 
	 
	

	
	Tertiary consumers
	 
	 
	 
	 
	 
	 
	

	
	Secondary consumers
	 
	 
	 
	 
	 
	 
	

	
	Primary Consumers
	 
	 
	 
	 
	 
	 
	

	
	Producers
	 
	 
	 
	 
	 
	 
	

	
	
	0       2,000     4,000      6,000    8,000   10,000     12,000

	
	
	Biomass
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	You have constructed a Pyramid of Numbers.
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	


Name: _______________________________________


Per. _______

Blue Planet Video

You will be watching a segment of Blue Planet. Please read over the following questions that you will be responsible for answering while watching the video.

1. The hammerhead sharks are involved in 2 symbiotic relationships.

a. What is the parasitic relationship?

b. What is the mutualistic relationship?

2. The carrying capacity of the of the environment has increased for the sardines recently. What has caused this to happen?

3. Name 3 organisms in competition with each other for the sardines.

4. Name 3 predator/prey relationships that you saw in the video.

5. What is the habitat of the organisms in this video?

6. Compare the niche of the sea birds (gannets) with the niche of the dolphins.

7. Below is a marine food web. Use the diagram to answer the questions below.

[image: image2.png]MARINE FOOL WEB
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a. What is the producer (autotroph) in the food web?

b. What process brings energy from the environment into the living organisms?

c. Name 3 tertiary consumers from the food web.

d. What very important group of living things contributes to this ecosystem, but is not pictured in this food web?

e. Does energy cycle through ecosystems?
36.3 Chemicals cycle in ecosystems. 
The Basic Pattern of Chemical Cycling

Three steps


1.


2.


3.

Nutrient cycle: 
All of the materials in an ecosystem can be recycled.  

Energy cannot be recycled – it is lost as heat from metabolic processes

Remember: C H O P K I N S  Ca Fe  Mg NaCl 
All of these element have their own cycle.  

Hydrogen and Oxygen are involved in the water cycle and the carbon-oxygen cycle.
Carbon is involved in the carbon-oxygen cycle.  

The Water Cycle:


Major processes:  


Geochemical /Physical (non-living) processes that involve the movement of water or its components –


Biological Processes – that involve the movement of water or its components –



The Carbon –Oxygen Cycle


Major processes: that moves any compound 

containing C and/or O --


The Nitrogen Cycle: 


Major processes that involve the movement of Nitrogen containing compounds –


Name: _______________________________________




Per. _____

Ecology - Chemical Cycles Summary Questions:

1.  Identify three basic steps of chemical cycling.

2. Explain how photosynthesis and cellular respiration are involved in cycling carbon and oxygen.

3. Describe three roles that bacteria play in the nitrogen cycle.

4.  Follow a raindrop through one possible path through the water cycle, ending as water vapor in the atmosphere.

35.3 Human population
A.  History of Global Population Growth


36.4 Human activities can alter ecosystems.
Pollution

Water Pollution




Biological Magnification

Thermal Pollution




Eutrophication (Algal Blooms)





Dead Zones

Air Pollution




Acid Rain




Ozone Depletion




Greenhouse Gases (CO2, methane, ozone)




Greenhouse Effect & Global Warming


Habitat Destruction




Deforestation


Food Web Disruption




Invasive Species




Overexploitation (Direct Harvesting)
Conservation Biology - Understanding Leads to Intelligent Decision Making



Reduce – Reuse – Recycle



Use of Renewable Resources that don’t pollute

Sustainable Planning for the Future

Trade Off
	The Major Ecological Problems Caused by Human Activity



	Ecological Problem
	Cause
	Substances Involved
	Effects
	Consequence
	Solutions

	Acid Rain
	Emissions from factories and other uses of fossil fuels
	Sulfur and nitrogen compounds in emissions
	Lowers pH in soil-moisture and freshwater habitats.
	Affects the reproductive processes of many birds.

Inhibits plant growth, affecting the whole food web.


	Reduce dependence on fossil fuels.

	Loss of Biodiversity
	Deforestation and other forms of habitat destruction.
	Introduction of invasive species. that compete with native species.

· Purple Loosestrife

· Zebra mussels
	Decreases the variety of species in an ecosystem
	· Fewer choices in the food web.

· Less resistance to diseases.

· Less ability of soil to hold moisture.


	Reforestation plans

	Nitrogen and Phosphorous in freshwater.
	Run-off of animal wastes from factory farms and fertilizers into freshwater sources.
	Nitrogen and phosphorous containing industrial fertilizers and many detergents.
	Increased nutrients in the water causes algal blooms
	The excess vegetation blocks light penetration and the decomposition of the vegetation consumes oxygen, suffocating aquatic fauna.
	Manage runoff.

	Global warming
	CO2 from burning of fossil fuels increasing the greenhouse effect.
	Carbon dioxide and other gases prevent heat from escaping from the atmosphere.


	Trapped heat causes the average global temperature to increase.
	Rising atmospheric temperatures effecting climate, melting ice caps.
	· Reduce CO2 emissions.

· Alternate fuel sources.

· Increase green space.

	Thinning of Ozone Layer in high altitudes.
	Chlorinated organic chemicals disrupt natural atmospheric cycles involving the formation of ozone.
	Freon and other chlorinated organic chemicals.

· Air conditioners

· Dry cleaning fluid.

· Aerosol containers.


	Ozone Layer is very thin in some areas of the globe.  There are major hole in other areas
	More UV radiation travels to the surface of the earth, increasing the risk of cancer.
	Decrease reliance on freon and chlorinated organic chemicals.

	Nuclear Power Waste Management
	Nuclear waste is the material that nuclear fuel becomes after it is used in a reactor.
	The waste (spent fuel) is dangerously radioactive, and remains so for thousands of years.
	Living things within a few meters of the waste receive a lethal radioactive dose within a few seconds.
	Current storage of waste (in water in drums buried in concrete deep underground) has potential for waste leaking into surrounding ecosystems.
	Continue to improve waste disposal methods.

Recycle the waste.



	Thermal Pollution


	Hot water from industry is dumped into rivers, lakes, & streams.
	Hot Water & other hot liquid wastes.
	*Temps. increase in rivers, lakes & streams.

*O2 levels decrease.


	Plants and animals may die, disrupting the food chain.

Organisms become more sensitive to disease.
	Cooling towers cool water prior to dumping the water in the rivers, lakes & streams.


Use the information in the table, Major Ecological Problems Caused by Human Activity (page 8), to fill in the information below. Each blank should be filled in with the name of an ecological problem.

1. Heat is trapped near the surface of the earth by greenhouse gases.    ______________________

2. More UV radiation travels to the surface of the earth, increasing the risk of cancer  __________________

3. Algal blooms result because of increased nutrients in the water ________________________

4. Waste created is radioactive ____________________________

5. Emissions of sulfur and nitrogen compounds cause this ________________________  

6. The use of Freon in air conditioners contributes to this problem _______________________

7. Has a direct impact on aquatic ecosystems ____________________________

8. Reforestation may help this problem ____________________________

9. This can lower the pH levels in soil moisture and freshwater habitats  ____________________

10. This leads to the reduction of oxygen in aquatic habitats _________________________

11. Reducing CO2 emissions will help this ecological problem ___________________________

12. Leads to a decrease in the variety of species in an ecosystem ________________________

13. This ecological problem inhibits plant growth which can affect the whole food web ____________________

14. A factory dumping warm wastes into Lake Erie ____________________________

15. Waste can seep into ground water is lethal to living thins _____________________________

16. This problem can be helped by managing run-off from farms _____________________

17. This can cause less resistance to diseases in species __________________

18. Purple Loosestrife has contributed to this problem in our area. ______________________

19. Climate changes can occur. ________________________

ECO WALK
Name_________________________________________

We will visit 2 ecosystems.  Recall that an ecosystem is both the biotic community and the abiotic factors of an area.  For each ecosystem:

1. Observe Abiotic Factors (wet, dry, moist?  Thin, deep, rocky, sandy etc…)

a. Soil, light, water, temperature:

2. Observe Indicator Species

a. Most common species, 2nd  most common species etc
Go to Ecosystem 1.  The Practice Field 
1.  Abiotic Factors:  

Soil

Moisture

Light

	Population
	Producer or Consumer?

	1.
	

	2.
	

	3.
	


3.  List three populations in this community, and indicate in the space provided whether the organisms are producers or consumers.  Recall that a population is a group of the same species in an ecosystem.

4.  Pick any two of the populations from the table above and suggest at least two ways that they interact.  Remember population interactions include symbiotic relationships, predator/prey relationships and competition.  

5.  Suggest 1 abiotic factor that may be a limiting factor in this ecosystem & explain WHY:

6.  Which biotic classification has the largest number of individuals in this ecosystem?

(circle 1) 

producers

primary consumers

secondary consumers

7.  What population might not be seen now but might visit this ecosystem later this evening or earlier this morning?

Ecosystem 2.  The Woodlot

8.  List 4 abiotic factors:  ____________, ____________, ___________, ____________

9.  Pick any one factor and describe how it changes during the course of one year (don’t use the same factor that you chose for ecosystem 1):

10.  List three populations in this community that you can observe right now.  Indicate in the space provided whether the organisms are producers or consumers (Try to think of one producer and two consumers).___________________  ____________________  ______________

11.  Suggest two other populations that are part of this ecosystem but are not visible right now:

	Population
	Producer or Consumer?

	
	

	
	

	
	

	
	

	
	


12.  Pick any two of the populations from the table above and suggest at least one way that they interact.  

13.  Suggest 1 abiotic factor that may be a limiting factor in the woodlot ecosystem:

(Don’t use the same abiotic factor that you used in ecosystem 1).

14.  Which biotic classification has the largest number of individuals in ecosystem 2?

(circle 1) 

producers

primary consumers

secondary consumers
15.  Symbiosis is an important type of relationship in every ecosystem. Recall that there are three types of symbiosis:  Parasitism, mutualism, and commensalism.  Suggest two examples of symbiosis that are likely to occur in the ecosystems that we observed.  For each suggestion indicate the type of symbiosis and the organisms involved.  
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